QINGGONG

BAG CLOSING MACHINE HEAD
EEEN

e Y npnpnnnnnn
LFS XINGFENGBAOJIZU

P ERiLpSE

LFSEIEEMEN, Ak
MESECEVEY (F3h) BEE,
B0 (W4 ) ST &%,

®

HEBEI QINGGONG SEWING MACHINE CO., LTD.

J i adege i mE R (104EE )
HiE. 0317-4121844
f£E : 0317-4222568

___[Qinssongbepi® EXTTIRIE FoU

Bi#E : hb_qg@ 126.com

FRT: AERFEERF HEBEI QINGGONG SEWING MACHINE CO., LTD.

S : 100148466189
LFS2M-3MZE I H BB g8 [H IE [H] —. MMM A EE(USE SCOPE OF THE MACHINE)
LFS2M-3M Bag tailoring unit electrcal principle 1. 312800 = E4% 5 N % (Main features and use)
T SLBHRANESHERZIEHNAREANEEm, BEIMEEN. REFTE.
ZF A, £EFESESR. SHEANYLEREHIHL, FEHAESEE—
B, ENAHERY, AfEATRE, B, Af. BOELERIMAE. KE.
1‘ BRIGASE, KENRESH0E%,
N w] | K:"’” ELT T — Qinggong brand conveyor machine is an accessory product of the bag tailoring
Yy \Tj T - % ;EL2 WL o s S series.It looks nice and it has high quality. It's economical and durable and easy to
(mmmm e o : mend.Different kinds of noses can be hng on the upright shaft.lt is connected with
oo : " ; 1 the conieyor device.lt can be widely used to transfer and seal the cloth,qunny,pastic,
i o : l Lﬁ*ﬁi{i—; : ;iiigfmigﬂ E paper bags used in grain,sugar,enterprises,petrochemicalworks and ports.
| | g g, R E T, E 2. EER RS E(Main technical data)
: i i EF- L__].gfﬁigi(ieiwjref)ﬁ,i T {ELL TR (Transfer rate) 8m/43$f (8meters/minute) N
: | o T | HE% L (Seal rate) 200-400%%(200-400 bags)
: | 3> {For special use in dotled fine) HETEE(Seal scope) 10-50kg(10-50 kilograms)
R Faga XK B (Conveyor lenght) | 1500-3000mm(1500-3000 millimeters)
| Sorcaimentineyl| clesmoalracion)  slossial mechinets) | S% 5% B (Conveyor widlh) | 320-400mm(320-400 millmeters)
hhhhhhh B HLIh 2 (Electric power) 370-550w{370-550Watts)
et 47, P B B E 8 (Gross weight) | 180-260kg(180-260 kilograms)
15K ML R E
1.5m~conveyor circuit diagram Z. HLEBHEE R AEHSIBE(USAGE AND ADJUSTMENT)
W oV U 1.4EH 77 % (Usage)
NN FUEHFRC ARG, GHITLRRITERREHETR I DR, #5
. BRIHE, REGRNEREARHHENEEFR2E—HEFNERE, EEEEE,
R 8 W QF I:{MM: EL2 R KERENSINEEERE LS.
] _‘j—l] Make a routine inspection before using it if it's new or not used for a long time.And
| i fill oil into oil filler point.Press the switch to make sure the directions of conveyor and
7
l (Pedal switch) seal machine are the same.After normalcy é—'— 2
make sure they go in the same speed. |
m | L LL 2 #1355 E A (Adjustment of the nose height)
MAE—ZERETD, FREAEFROEN
BEQHEL L DR IO L TiEE, A3
BHENTIESE,
Loose the screw,turn around the handwheel
e to make machine base and nose to go up and . Q E—
iz e down until it's in a suitable height. D=
{Canveyor belt (Bag tailoring machine
alectrical machinery)  electrical machinery)
12 1
3.3 & FE % (Adjustment of the stand board height)
REREE 0N FE0), Y 2 1 g
ER2M ETiEs), E2E
B TAES EHiniet £ \ - b1
EEE . sl 2
Turn four handwheels to @6;7/_@1 J
adjust the stand board until ) 3 T—
a suitable height.Make it flat. E— Bl 18 7
4 BHSHBRAE RN EERE i
7, RE=: ARTROUEY et e —8 8 — (&
Ej‘ﬁéjiﬁi?*ﬁrﬂ@ﬁ]; 1%517.% 14 ——— c 6 @?——'9 9 —— 1 23
@A FHEHRPELE, HFXRBSERRERE, 1 ,'i',, ©
_ - ( 15 : @10 10— &
Adjustment of the belt position and degree of / @ S 11 1 —
tightness.Adjust the screw to make the beltin /7 ———- ’ / L? P %
the middle of the stand board and in suitable ﬁ’%@,ﬁ% 1 16
degree of tightness. L‘:’—\\J e K ,,:,;,I:/
S.UAEREENEAEFRAAEEENES Yf fp —
EITRIRIBEE. B= 3 ,f/ '
@i FEREmt, SENRNEEEHEREFL, A
(1'Turn the speed handwheel to make suitable speed.
(2IRemember to fill oil before using it . 8% T2 (speed hand whell)
(3)Not turn the speed handwheel when it staps. m{ -
O [ © _ﬁ e {_] a i@
e I vy T, i_J
FR [ E g
deli H g petia
(delvery ro R AR B LR SRR |
(Install seamless speed requlated |
electrical machinery if necessary) /
( 1 2 8
HEAE
(Stand board} \>
, |
\ [
3
2 11
F = £ W % B |
1 B3RIBY & (delivery roll requlator) 2
2 SRIAT IR (delivery roll regulator board) 2
3 M124222 (M12 screw) 2
i &% (bearing cap) 2
5 2055 74& (205 bearing) N 2 L /\ -
6 SHE 05 (delivery roll axle 1) 1 )J ﬁ m 'g {EI: g %‘
7 B4R 1 E (delivery roll sleeve 1) 1
8 _+ﬁgﬁ§g;£ (auxilary wheel stand) 4 | decomposition diagram and names of parts
g 202H7&E (202 bearing cap) 4
o 10 20287 (202 bearing) 4
11 HEIEE (auxilary wheel sleeve) 2 R
12 BB (auxilary wheel axle) 2 - |
13 5B (support ring) i
14 A& (bearing box) 2
15 20587 (205 bearing) 2
16 B3R (delivery roll stand) 2
17 B3R 1 (deliveryroll 1) 1
18 iR (speed requlated elevtical machinery) 1
19 M10x1088 22 (M10x10 screw) 4
20 M8x104822 (M8x10 screw) 8
21 M10x3548££ (M10x35 screw) 8
22 M10x258242 (M10x25 screw) 8
10 3
F g | & % B | B i
1 F# (handwheel) 1 i —1
2 M8TIZ (M8 pushing screw) 3 19 ﬂ l; 11
3 8204[F hihA& (pressure bearing) 2 % % L
4 +3= (bearing cap) 1T 10 10
5 4T (leading screw) 1
6 FriEIZE (elenator nut) 1
7 M108E4 (M10 screw) 2 . .
8 r#E (upright shaft) 1 ‘@
9 Mi2d822 (M12 screw) 4 57} a2l
10 JE% (chassis) 1 i &3 7 &)
¥ e "
YA 4 > £
P @ /7
/S & /o
_____ - - A
o g g e © © © 6 ¢
&/ . &
10 /o 10~ /
i /oy
— b M By
- / /o
/ /
— A 7
| 13— ="
- o &—
@ €3 4
&> =)
S—3
&Y 2
_ <P\ 1
| C D4
4 9
K s I ¥ =
1 TR (flat conveyor belt) 1
2 i&ﬁ (nut) 4
3 IBHFIERE (screw base) 4
4 | FEREE<T> (upper arc coliar) 4
5 i E5RE Bl <> (lower arc collar) 4
8 B2FFRE (screw stand) ] 4 o 9 549 % 5
7 .  FHRRBAT (elevator screw) | 4 ﬁ
g8 HBEF# (elevator handwheel) A E
9 #Et (stand board) 1 5
10 M2482E (M24 nut) 4
M 4R (shield) L
12| MBx20MAHIRL(M8X20 screw) 4 | - 6
13 M12x2088 £ (M12x20 screw) 8 7 —J= 6183 cf}— 7
— o h@
| S E— N
1 e
— - 8
e —
]
— 3
i7
N
_ L _
8 5
| K B £ % | w2
1 fk(ose) )
2 T#IsEM (nosebaseboard) | 1 |
.___9_ - H}U}E (machine base) 1 *
tt-_fd,_ - 2SS 38 (electrical equipment box stand) 1
.5 eSS (electrical equipment box) 1
L 6 222 (thread stand) N
7 PRiPE (protection cover) 1 |
8 A4 (electrical machinery board) 1 |
| 9 Al (electrical machinery) 1
10 Mo W Lig2 (M10 screw) 3
11 ) M6x6 #8# (M6x6 screw) 8
12 | M6x10824 (M6x10 screw) 4
i 13 M8x2088£2 (M6x20 screw) 2
| 14 | MBx4088 £ (M6x40 screw) 1__” 4
S o S | K S S VU SV NV O l:
T - B
5 — - i
i o . |
| - |
L — i___
L - |
| | |
) 1= |
| = 4
} — — —]
i o _i e N
6 7




